STATISTICS
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A tree diagram shows all the possible outcomes You write the outcomes at the

from a series of events and ther probabilities. ends of the branches.

This i1s a tree diagram for Holly’s journey to school. TR SRS ana IRt

You write the probability for b ~ Outcome Probability
each event on the branch. \ | , e S TR ) |
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The outcome of R A bl
the first event
can affect the Ctialibi o diel o BoR RO S -E_)'— On time —‘,__l,)' X 1 = %
probability of the
| second. ~ Each branch is like a different “You multiply along the branches to find
' Holly 15 less likely parallel universe. In this universe, the probability of each outcome.
to be on time if she Holly catches the bus and gets W The probability that Holly misses the bus
 misses the bus.  toschoolontme. and s late for school is 7.
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Golden rules

Look out for the words REPLACE or PUT
BACK 1n a probability question. -
WITH replacement: probabilities stay the same.

WITHOUT replacement: first pr’obablllty stays the
~same while the others change.

ADD UP THE
OUTCOMES
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Use a tree diagram to answer question 1 below.
7 Only one in ten students got full marks for this
{ | question in the exam.

@o_;k:d example
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There are 3 strawberry yoghurts and 4 peach yoghurts ' .

in a fridge. Kate takes a yoghurt at random from , This "}‘:tasta;eai exa:“ ‘;I:e*“w“ tha:l' esultePlu
the fridge. She eats the yoghurt. She then takes a /— | .caughtstudents out = be prepared!

second yoghurt at random from the fridge. Workout | .
the probability that both the yoghurts were the same : this
ﬁaVOLlI'. First 58COI’Id N ow trv

yoghurt  yoghurt Outcome Probability :

edexcel:::

1. Fred has a biased coin.

é - a5 Sl el The probability of ggtting Heads on one
e < e . throw of the coin is 7. He throws the B
v T i 3,4 _2 | | Dbiasedcoin3 times. Work out the probability
2 76 7 . thathe gets at least two Heads. (3 marks)
2! e 2. There are 4 bottles of orange juice, 3 bottles
Ui [ Fose s i aimis of apple juice, and 2 bottles of tomato juice.
e < S Viv takes a bottle at random and drinks /]
% P Hig i e the juice.Then Caroline takes a bottle
at random and drinks the juice. Work out \_
gillen el vl Pl(SS) 2+ F(Fg) the probability that they bJoth take a bottle of
e the same type of juice.\ : (4 marks)
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